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The Gauhati High Court at Guwahati
(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradestt)
Written Examination (Objective type multiple choice) for direct recruitment of
Systems Assistant in the District & Sessions Judges’ Establishments of Assam

Date: 24.12.2017 (Sunday) Time: 2 V2 hours
Answer all guestions. All questions Carry equal marks

In following 3 questions Choose the correct meaning of proverb/idiom from the options
given below:
1. To hit the nail right on the head:
A Todestroy one's B To teach someone C Todotheright D None of these
reputation a lesson thing

2. To be above board: :
A To try to be B They have no C Tohavea D To be honest in

beautiful debts good height any business
deal
3. To keeps one's temper:
A To bein - B Tobealoof from C To become b None of these
composed mood strong

in following 4 questions choose the word which is the antonym of the given words.
4. Alien:

A Native B resident C jocal D  foreigner
5.  Annoy:

A Trust B  Please C Happy D Comfortable
6. Impass

A deadiock B moving C  Breakthrough D surpass
7. Hapless

A Cheerful B courteous C unlucky D fortunate

8. Choose the correctly spelt word :
A Klaptomania B Kleptemania C Kleptomania D Kiepptomania

9. Choose the correctly spelt word :
A Skiltful B Skilfull C skeeiful D skilful

10. Choose the correctly spelt word :
A Inoculation B  Innoculation C Inocculation D Inocullation

11. Choose the correctly spelt word :

A Comittie B Committee C Commitee D Comittee

1n following 4 questions choose the word which is the Synonym of the given words.
12. Wary
A sad B Vigilant C intolerant D Ineffective

13. Shiver
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A Moving B shower C  Tremble D shaving
Tepid

A Cold B hot C warm D boiling
Germane

A Relevant B Forceful C logical D nice

Choose the word which can be substituted for the given word/sentence.

16.

17.

1s.

19.

20.

21.

22.

To slap with a flat object
A Swat B chop C gnaw D pat

One who cannot be corrected
A incorrectable B Incurable C Incorrigible D Incorrectible

One who is in charge of museum
A Museumator B keeper C Curator D antiqueator

A disease of mind causing an uncontrollable desire to steal
A Magolomania B Kleptomania C Schizophrepnia D Theftomania

To take secretly in small quantities
A Defalcation B Theft C Cheating D Pilferage

Find the statement that must be true according to the given information:-

Sita lives in a large city on the East Coast. Her younger cousin Gita lives in the Mid-west in a
small town with fewer than 1,000 residents. Gita has visited Sita several times during the past
five years. In the same period of time, Sita has visited Gita only once.

A Gita likes Sita B Sitathinkssmall C Gita wants to D Sita is older than
better than Sita towns are boring move to the Gita.
likes Gita East Coast,

All Laptops are ipads with buttons.

No yellow ipads have buttons.

No laptops are yellow.

If the first two statements are true, the third statement is-

A true B uncertain C False D Imagination

Foliowing four questions have a word in bold font followed by four answer choices.
Choose the word that is a necessary part of the word in bold font.

23.

24.

25,

26.

Swimming

A Pool B Water C Swimming suit D River
Pain

A Cut B Burn C Hurt D Bruise
Shoe

A Lace B Sole C Walking D Polish

Antique
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A Rarity B Pre-historic C  Artefact D Aged

In each of the following two questions, three statements are given followed by four
conclusions numbered A,B,C and D. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which
of the given conclusions logically follows from the given statements disregarding
commonly known facts.

27.

28.
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Some tigers are cats. Alf cats are benches. Some benches are not tigers -
A -Some benches are tigers

B- All tigers are benches

C- All cats are tigers

D- No bench is tiger

A None follows B Only A follows C OnlyCandD D Only A and B
follow follow

Some pens are pencils, Some pencils are rubber. Some rubbers are Songs,

A - Some songs are pencils

B~ Some rubbers are pen

C- Some songs are pen

D- No song is a pencil

A Only either Aor B Only either AorC C  Only either Aor D Only either B or
D follows follows B follows D follows

If 40% of a number is equal to two-third of another number, what is the ratio of first number
to the second number?

A 5:3 B 2:3 C 4:7 D 1:4

The fourth proportional to 5, 8, 15 is:
A 28 B 16 C 24 D 32

A takes twice as much time as B or thrice as much time as C to finish a piece of work. Working
together, they can finish the work in 2 days. B can do the work alone in:
A 7days B 6 days C 4days D 3days

10 women can complete a work in 7 days and 10 children take 14 days to complete the work.
How many days will 5 women and 10 children take to complete the work?

A 8 days B 7days C 6 days D 4 days

Rahul can do a piece of work in 20 days. Tanya is 25% more efficient than Rahul. The number
of days taken by Tanya to do the same piece of work is:
A 17 days B 15 days C 16 days D 14 days

In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the
probability of getting a prize?
A 3/7 B 277 C 5/9 D 2/5

Two trains running in opposite directions cross a man standing on the platform in 27 seconds
and 17 seconds respectively and they cross each other in 23 seconds. The ratio of their speeds
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is:
A 3.4 B 12 C 3:2 D 4:5

A boat running upstream takes 8 hours 48 minutes to cover a certain distance, while it takes 4
hours to cover the same distance running downstream. What is the ratio between the speed of
the boat and speed of the water current respectively?

A 5:8 B 16 C 3:2 (3} 8:3

A watch which gains uniformly is 2 minutes low at noon on Monday and is 4 min. 48 sec fast at

2 p.m. on the following Monday. When was it correct?

A 2 p.m. on B 1pm.on C 2 p.m. on D 3 p.m. on Friday
Wednesday Thursday Tuesday

How many 4-letters words with or without meaning, can be formed out of the letters of the
word, 'LOGARITHMS', if repetition of letters is not allowed?
A 2020 B 5040 C 2008 D 5120

A tank is filled by three pipes with uniform flow. The first two pipes operating simultaneously fill
the tank in the same time during which the tank is filled by the third pipe alone. The second
pipe fills the tank 5 hours faster than the first pipe and 4 hours slower than the third pipe. The
time required by the first pipe is:

A 30 hours B 10 hours C 20 hours D 15 hours

Which of the following has the most number of divisors?
A 176 B 99 C 182 D 200

A wheel that has 6 moving parts is meshed with a larger wheel of 14 moving parts. When the
smaller wheel has made 21 revolutions, then the number of revolutions made by the larger
wheel is:

A 16 B 5 C 9 D 49

Find the odd man out.
331, 482, 551, 263, 385, 362, 284
A 284 B 385 C 362 D 551

Rs. 20 is the true discount on Rs. 260 due after a certain time. What will be the true discount
on the same sum due after half of the former time, the rate of interest being the same?

A Rs, 23.66 B Rs. 13.90 C Rs. 15.60 D Rs. 10.40
January 1, 2008 is Tuesday. What day of the week lies on Jan 1, 2009?
A Monday B Thursday C Friday D Sunday

A father said to his son, "I was as old as you are at the present at the time of your birth", If
the father's age is 38 years now, the son's age five years back was:

A, Byears B. 14 years C. 16 vyears D. 12 years

Ancient name of Cachar was:
A.  Hidimba B. Narayanpur C.  Pragjyotishpur D.  Manipur

Piyoli Phukan was hanged in the year:
A, 1828 B. 1830 C. 1832 D. 1829
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Srimanta Sankardeva was born in the year:

A, 1451 B. 1452 C. 1449 D. 1448

Dimapur was the capital of the :

A.  Kachari Kings B.  Ahom Kings C. DimasaKings D. KochKings

The oath of office is administered to the Governor by the:

A.  Speaker of B. Chief Justice of  C.  Chief Justiceof D.  President
Legislative High Court India
Assembly

The famous book The Daughter of the East' is written by

A.  Ms. Taslima B. Ms. Benazir C.  Ms. Aunsan Suu D. Ms,
Nasreen Bhutto Kyi Bandaranaike

Sirimavo

‘Dandia’ is a popular dance of
A.  Gujarat B.  Punjab C.  Rajasthan D.  Maharashtra

Who composed the famous song 'Sare Jahan SeAchha'?
A.  Bankim Chandra B. Rabindranath C.  Mohammad D Sarojini Naidu

Chattopadhyay Tagore Igbal
Which state has become the India's first state to endorse Centre's triple talaq draft bili?
A.  Uttar Pradesh B. Tamil Nadu C.  Punjab D.  Kerala
Who has been honoured with Mother Teresa Memorial award for social justice 20177
A.  Priyanka Chopra B. Aishwarya Rai C.  Sridevi D.  Kaijol
Who become the only cricketer to have scored three double centuries in ODIs?
A.  Virender Sehwag B. Rohit Sharma C.  Sachin D.  MS bhoni

Tendulkar

Which of the following word is declared as 2017's Word of the Year by Oxford Dictionary?

A.  Youthquake B. Earthquake C.  bradfold D.  seasand

Who has won the 2017 presidential election of Chile?

A Eduardo Frei B Michelle Bachelet C Sebastian D Ricardo Lagos
Ruiz-Tagle Pinera

Which city is choosed to host the 2022 Commonwealth Games?
A London B Birmingham C Germany D Newyork

This film got the Golden Peacock award for the Best Film at the International Film

Festival of India (IFFI-2017)
A Loveless B Everest C  Trishanku D 120 Beats Per
Minute

Who has won the 2017 Women's singles National Badminton Championships?
A Saina Nehwal B PV Sindhu C Prajakta Sawant D Shriyanshi
Pardeshi
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The Black Rod is responsible for controlling access to and maintaining order within :

A Boxing ring B Rugby Match C UK's House of D Taekwondo Ring
Lords

Which country recently adopted a new law enforcing a three-year punishment for disrespecting
the national anthem?
A Japan B China C Korea D Malaysia

Which country announces lifting of ban on movie theatres after 35 years?
A Saudi Arabia B  Egypt C Iran D Iraq

What is the name of the scheme which was launched to assess sanitation in all 4,041 cities and
towns of the country?

A Pradhan Mantri B  Pradhan Mantri C Swachh D Swachhta
Swachhta Bima Swachhta Yojana Survekshan- abhiyaan
Yojana {(PMSBY) (PMSY) 2018

Which state bans govt school teachers from taking mobile phones to classrooms?
A Haryana B Bihar C Uttar Padesh D Madhya Pradesh

Which country got disqualified for the first time in Football World Cup 20187
A Netherland B Italy C Japan D Uruguway

Which state government passed Prevention and Eradication of Inhuman Evil Practices and
Black Magic Bill, 2017?
A Karnataka B Assam C Bengal B Tripura

The Madhya Pradesh Govt has parthered with which states under "Ek Bharat-Shreshtha Bharat"

scheme to strengthen cultural relations between them?

A Nagaland and B  Assam & Tripura C Bihar & Orissa D Haryana &
Manipur Punjab

Who won the 67th edition of the Miss World crown?
A Ayurshi Chilar B Manushi Chhillar C Madhavi Chillar D Ruparshi Chiltar
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attribute. Which one of the following can be used to fill up the gap?
iy Domain (B} Relation (C) Set (D) Schema

The result of which operation contains all pairs of tuples from the two relations, regardless of
whether their attribute values match?

(Al Join {B) Cartesian product
{C) Intersection ([3)] Set difference

Consider the query Select * from employee where salary>10000 and dept_id=101;
Which of the following fields are displayed as output?

{A) Salary, dept_id

{B) Employee

{C) Salary

{D) All the field of employee relation

A relational database consists of a collection of

[A) Tables {B) Fields (C) Records (D) Keys

Which one of the following provides a set of operations that take one or more relations as input
and return a relation as an output?

{A) Schematic representation (B) Relational algebra

(C) Scheme diagram (D) Relation flow

What type of join is needed when you wish to include rows that do not have matching values?
(A) Equi-join

(B) Natural Join

{C) Outer Join

(D) All of the above

Which one of the following represents a relationship among a set of values in a table?

{A)  Column {B) Key (C) Row {D) Entry

All aggregate functions except which one of the following ignore null values in their input
collection?

(A) Count(attribute) (B) Count(*)

(€} Avg (D) Sum
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99, The primary key must be

{A) Unigue

(B} Not null

(€} Both Unigue and Not null

(D) Either Unigue or Not Null
100.  Using which language can a user request information from a database ?

{A) Query (B) Relational {C) Structural {D} Compiler
101.  Which one of the following clauses is an additional filter that is applied to the result?

{A) Select (B) Group-by {€) Having {D) Order by
102.  The phrase “greater than at least one” is represented in SQL by

(A) <all (B) < spme {C) > all (D) > some
103.  Which one of the following makes the transaction permanent in the database ?

{A) View (B} Commit (C} Rollback (D) Flashback
104.  Which one of the following consists of a sequence of query and/or update statements?

{A) Transaction (B) Commit {c) Rolback (D) Flashback

105. The descriptive property possessed by each entity setis

(A) Entity {B) Attribute c) Relation (D) Model

106. In order to maintain transactional integrity and database consistency, what technology does a
DBMS deploy?
(A) Triggers {B} Pointers {C) Locks (D) Cursors

107.  Which of the following has “all-or-none” property ?
(A) Atomicity
(B} Durability
(c) Isolation

{D) Al of the above
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The database system must take special actions to ensure that transactions operate properly
without interference from concurrently executing database statements. This property is referred
to as

{A) Atomicity

{B) Isplation

C) Durability

{D) All of the above

Which of the following header must be included in java program to establish database
connectivity using JIDBC ?

{A) Import java.sgl.*;

{8) Import java.sql.odbc jdbe.*;

o] tmport java.jdbc.*;

(D} Import java.sqgl.jdbc.*;

Which one of the following is not an integrity constraint?

(A) Not Null (B) Positive

{C) Unique (D} Check ‘predicate’
The property of transaction that persists all the crashes is

{A) Atomicity (B Durability

{€) Isclation {D) All of the mentioned
Which one of the following task is not done by data link layer?

{A) Error control (B) Flow control

(] Framing (D) Channel coding
Which transmission media has the highest transmission speed in a network?
{A) Coaxial cable {B) Twisted pair cable
{8 Optical fibre {D) Electrical cable
Which address identifies a process on a host?

(A) Physical address (B) Logical address

(C) Port address {D) Specific address
Which layer is responsible for process to process delivery?

{A) Network layer (B} Transport layer



116.

117.

iis.

119.

120.

121.

122,

123.

124,

Page 11 of 15

(C) Session layer {D) Data link layer
Which one of the foilowing is true?

(A) TCP is Connectionless but UDP is connection criented

{B) UDP is Connectioniess but TCP is connection oriented

{C) Both TCP and UDP are connection oriented

(D Neither TCP nor UDP is connection oriented

An endpoint of an inter-process communication flow across a computer network is called

{A) Socket
{B) Port
(c} Pipe

(D) None of the above

Which one of the following is one of the architecture paradigms?

(A) Client-Server

(8} Peer-to-Peer

()  HTTP

(D) Bothe {A) and (B)

The packet of information at the application layer is calied

(A) © Frame (B} Packet (C) Message (D}  Segment
The network layer concerns with

(A) bits (B) frames (o] segments (D) packets
The time taken by a packet to travel from client to server and then back to the client is catled
(A) STT (B} csT {C) PTT (D) RTT
Which of the following is not a guided media?

(A) Coaxial cable (B} Fibre optic cable

{C) Wireless LAN (D) Copper wire

On request from a client, which of the following is provided by DHCP?

(A IP address (B) MAC address

(€} URL (D} Port address

Which multiple access technique is used by IEEE 802.11 standard for wireless LAN?
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(A} ALOHA (B} Slotted ALOHA
{C}) CDOMA {D} CSMA/CA
125.  What is the default subnet mask for a class C network?
{A) 127.0.0.1 {B) 255.0.0.0
{c) 255.255.0.0 {D) 255.255.255.0
126.  Which of the following error is not relevant in the context of execution of a program?
(A) Syntax error {B) Runtime error
(C) BIOS error (D} Logical error

127.  Which of the following devices forwards packets between networks by processing the routing
information included in the packet?

{A) bridge
{B) firewall
{Q) router
(3} All of the above
128.  Which one of the following is multiple access protocol for channel access control?
(A) CSMA/CD
(8} CSMA/CA
{C) Both (A} and {B)
3] None of the above
129.  Which of the following delay is faced by a packet in traveling from one end system to another ?
{A) Propagation delay
{B) Queuing delay
{C) Transmission delay
M All of the above
130. httpsis
{A) an adaptation of the http protocol for secure communication over a computer network
{B) an adaptation of the http protocol that works in g subnet
{C) an adaptation of the hitp protocol that works in synchronous networks
(D} used only in LAN

131.  WPAZ2 is a security technology commonly used in
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{A) Ethernet (B} bluetooth () firewall (D) wi-fi

Which one of the following is used for multicast addresses?

(A) Class A {B) Class B (C) Class C (B) Class D
Which one of the following is not related to other three?

(A) Flow chart (B) Program €} Algorithm {D) Control bus

A computer program that converts a program written in assembly language to machine language
is

{A) Compiler (B) Interpreter ) Parser {D) Assembler

In the following program where is the variable a getting defined and where it is getting
declared?

#include<stdio.h>

int main (} {
extern int a;
printf ("%d\n", a};
return 0;

}
int a=20;
(A) extern int a is declaration, int o = 20 is the definition

{B) imt a = 20 is declaration, extern int g is the definition
) int a = 20 is definition, o is not defined
(D) extern int o is declaration, printf{“%d\n”, a}is the definition

What will be the output of the following program?

#include<stdio.h>
int main () {
static int al[20]:
int i = 0;
alil] = 1 ;
printf("%d, %4, %d\n", al0], alll, 1i);
return 0;

(A) 1,01 (B) 0,00 (C) 1,11 {D} 0,10
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137.  When the following code is executed, how many times "System Admin" is get printed?

#include<stdic.h>
int main () {
int =x;
for(x=-1; x<=10; x++){
if{x < 5} continue;
else break;
printf ("System Admin");
}

return 0;

}

{A) Infinite times {B) 11 times
{C) 0 times (D} 10 times

138.  What will be the output of the following program?

#include<stdio.h>
int fun{int i} {
i++;
return i:
}
int main() {
int fun({int);
int i=3;
fun (i=fun(fun (i)} ):
printf {"%d\n", 1);
return 0;

}

{A) 5 (B} 4 {C) 3 (D) Error
139. IPv6 addresses have a size of
(A} 32 bits {B) 64 bits (C) 128 bits (D) 256 bits
140. Point out the error, if any, in the for loop of the foliowing program.

¥include<stdic.h>
int main{) {
int i=1l;
for(;; 1
printf ("%d\n", 1++);
if(i>10)



(A)

break;

}

return 0;

There should be a condition in the for loop

The two semicolons should be dropped

The for loop should be replaced with while loop.

No error
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